23A

1) (X-0)2+(Y-0)2=62
center (0,0)
radius 6

2) on the graph

3) (X-3)2+(Y+3)2=42=16

4) on the graph

5) X2 4+2X+1+Y2+4Y+4=4+5
X+1)2+(Y+22=9

center (-1,-2)

radius 3

6) on the graph

7) 4(X-0)2 +(Y-0)2=62
center (0,0)

4X2 + (0)2 = 36 4(0)2 + Y2 =36

4X2 = 36 Y2 =36
X2=9 Y=%6
X=+3

8) on the graph

9) 16(X+1)2+9(Y-1)2 =144

center (-1,1)

16(X + 1)2 + 9(0)2 = 144

16(X + 1)2 = 144 (Y -1)2=144
X+1)2=9 (Y-1)2=16
X+1=+3 Y-1=x4
X=2, -4 Y=5,-3

10) on the graph

16(0)2 + 9(Y - 1)2 = 144

#2

#4

#6

#8

23B
1) X+4)2+(Y+4)32=5
center (-4, -4)

radus 46 ~2.24

2) on the graph

3) (X-2)2+(Y-1)2=(45)2=2025

4) on the graph

5) X2-8X+16+Y2+12Y +36=-48 + 52
X-42+(Y+6)2=4
center (4, -6)
radius 2

6) onthe graph
7) 4(X-2)2 +16(Y + 1)2 =64

center (2,-1)

402 + 16(Y + 1)2=64  4(X-2)2 + 16(0) = 64

]

16(Y + 1)2 =64 4(X -2)2 =64
Y+1)2=4 (X-2)2=16
Y+1=%2 X-2=%+4
Y=1,-3 X=6,-2
8) on the graph
9 X-12+9(Y+1)2=9

center (1,-1)
(02 +9(Y +1)2=9 (X-1)2+9(0)2=9
oY +1)2=9 (X-1)2=9
(Y+1)2=1 X-1=43
Y+ 1=zl X=4,-2
Y=0,-2

10) on the graph

#2

#4

#6

#8

#10
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14)

15)
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17)
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19)

20

Rl

(X-02+(Y-02=82 = X=0,Y=0
C=(0,0) R=3

on the graph

(X-1)2+(Y-12=82 = (X-1)2+(Y-1)2=9
on the graph

#28& 4

X2 +6X+9+Y24+6Y+9=-2+18
(X+3)2+(Y+3)2=42
C=(-3,-3) R=4

on the graph'
(0,0)

#6 & 10

Y=0 = 6X2=24
X2=4 = X=t2

X=0 = 4Y2=24

Y2=6 = Y=+4{6 ~25 Thisisan estimation
of the value chosen

on the graph to make it easy to #16 0 parallel
BC2 =49 + 16 =65 graph.
BC = {85 ’given
AB2=9+81=90 —
AB = Y90 AB =310
2-2 3-4 1 Py
sl = (=)
5-2 -6-4 1 perpendicular
)l = (15— =) #18
Y=18X-2, m=1/3
Y=1/3X+b = (4)=1/3(-3) +b <
5=b Y=1/8X+5 . m=
on the graph given

Y =-1/5X-1, m=-1/5 so perpendicular is 5
Y=5X+b = (-3)=5(-1)+b
2=b Y=5X+2

on the graph
[2Y=22X+3]+2 = Y=X+3/2

#19 & 20

(0) = (0) + 3/2 (2) = (-2) + 32
0=23/2 22-1/2
no yes

solid, on the graph’

o & 8N

o
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10)
11)

12)

13)

14)

15)

16
17)

~

18

=

19

~

20

~

R2 =36 #28&4 H
I

-3 R=6

on the graph

(X+2)2+(Y-02=52 = (X+2)2+(Y)2=25

on the graph

X2-6X+9+Y2 =16+9

#6 & 10

(X-3)2+(Y-0)2=52

C=(3,00 R=5

on the graph

X+3=0, Y-1=0, C=(3,1) (multiply by 16 first)

If Y=1,Yterm =0 = 4(X+3)2 =16, 2(X+3)=%4, X=-1,-5

If X=-3, Xterm =0 = (Y-1)2=16, Y-1=+4, Y =+5, -3

on the graph

#16

AB2=64+4 =68

AB =468 =217

AC2=100+9=109

AC = {109 =

~agiven

4.2

(22 () = (1)

parallel

given

(. () - (12 ) #8

4Y=-X-2 = Y=-1/4X-1/2

m=-1/4

Y=-1/4X+b = (-4)=-1/40) +b

“4=b Y=-1/4X-4

on the graph

Y=1/2X+5/2, m=1/2 so perpendicular is -2

ular

#19 & 20

Y=-2X+b = (3)=-2(2) +b

7=b Y=-2X+7

on the graph

Y<2/5X+1/2

(0) < 2/5(0) + 1/2
0<1/2 yes

(2) < 2/5(0) + 1/2
2<1/2 no
dotted, on the graph

perpendic-
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23E 24A

1) [8X2 +3Y2=751:3 = (X-0)2+ (Y-0)2=52 #2 84 % ? I
C=(0,00 R=5 : !

2) onthe graph 7 [

3) (X-22+(Y+2)2=22 \

4) on the graph 1 \

5) X24+2X+1+Y24+2Y+1=3442 !
X+1)2+(Y+1)2=62 ’I \\

G=Fl=l) B0 #6 & 10 4 ¥

6) on the graph A= S 1) Y=3X2 2) Y=-X2

7) 9X2 + 25Y2 =225, center = (0, 0) /10’ A

8 Y=0 = O9X2=225 \

X2=25 = X=%x5 i /

9) X=0 = 25Y2=225 R e T k 4
Y2=9 = Y=t3 \ XY XY

10) on the graph #16 \ i 0| O 0|0

W

11) AC2=9+9=18 N 1:2 : 1
Sl 2 |4/3 16| 2

12) BC2=9+36=45 3 -2 (4/3 16 (-2
BC =445=345

3+0 640 3 ] Rparallel
Ao - Y (RN |
13y { 2 Yl 2 )=( 2 ) given given 3) Y=1/3X2 4) X=4Y2
#18
3+6 6+3 9 9
W () () =(z7%) ANEmEn=au i
15) 2Y=-2X-3 = Y=-X-3/2 =]
Y=-X+b = (4)=-(-2) +b perpendicular - ~‘ 14
2=b Y=-X+2 \ |
XY [ XY

16) on the graph R \ \ ]

17) m=-3 so perpendicularis 1/3 = o 211 \ II 11-3
Y=13X+b = (3)=1/3(1) +b #19&20*{} Pina 2] N > 1la
22/3=b  Y=1/3X+22/3 S )l 2] o0

18) on the graph AL {2 2|0
5Y<-4X = Y<-4/5X

19) (-2) < -4/5(-2) (2) =-4/5 (2) 5) X=-3Y2+1 6) Y=X2-4
-2<8/5 yes 2'<-8/5 no

20) solid, on the graph
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